i[/ E. ua'é;D"S Sept 11, 2006
9

’tC/ vations . ¢ Séatemen’t

‘CormeaA \O/ P acin l
QC(_UO\‘ 8(3"\ <-—> 'E‘fo”’\

Two t:xprcsslon-\.

T-t, \f\fftS AN ee(_UQ( S'jV\\

AnEquativn has 2 Ln% +Right Side

chuq o ‘cawx hat Gn(=\

/\/\/\
Hy+ Ayl s

(- 70% R\E:)kj
e R



_,SOlU—‘e"b@: the Number tha™
fﬁPIaces The Jariable +o Make

e Equation Trve. [

Hy+ 1=
A 1g The SO/’UJUO’X .

—




’O"?%GK ]L ) 4—3 oare gofutior\S
s

Lor Lf)“‘\:'lz

Cj)—r__X—— Uy |=] 3 =P
%)+ 1 212 =>50b.
8—)—/ /..?

\:0'56‘.. >2‘/3
&—LS—BVZ@‘ 4 gOlU#‘.lG\’\

Lry2 0 Yyp | = /3 %{Xﬂ
L7l(2\>‘\' l = 3"‘?501,

02 1 £ 3
3 =13

TY‘U@...
3 'S « Solu\HOV\

/




gol\)e an E?(/ﬁt?ar\ljs,.ys]\/\ewtul Mot Y
%_TI’\W\K Og“ <\*\/\/f|.'t€ ThE Equa‘“bl\

asS A chstiar\.

ex !}
r-;{()(-"-“5 => Wl'\a\—\_ [\/um\ggp g\

Tianes o eé(uo\\s JOS =

4 = x =2 => What Numbe,-
Minus R equals ¢R >

—




Reml L Fe Matin

— T only hed
Chips =322 g0
Beahs%/) o e Much M

oce 20 ow I\ C ore
Cheese—4 do T nead.

low\q‘tosaj_,m
Ollyes —» 1 &0

Cost = (0.00+ %

M\;Hﬂg£1o+x
/O.§<) = /O +x

W hat Mumbe r Plvs o
CHvals /Og‘? i



OTL

, 2V -2% o= (S @,
D P2 27~ 97 (oY,
5o

2. Turn in your quiz correctons in your mail slot.
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